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Plot Sensor and FgRec Data
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.6

.51

.4 A

—0—

M_E

T
540

5&5 5%0
m=780,n FV0=0
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P3-11

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR e

06:40 120 70.0 R 1R1%@06:40 (K FHIEREES)
07:40 120 70.0 |Z & BRi&@07:40 (KBHEEER)
08:45 120 70.0 5 ;Ri&@08:45 (KFB{EREEE)
10:05 120 70.0 5 ’Ri&@10:05 (kAfEREE)
11:15 120 70.0 i Rige11:15 (RBAERE)
12:20 120 70.0 [ Bi%012:20 (KRFEERE)
13:10 120 70.0 5 BRi&e13:10 (kBfEREEE)
14:15 120 70.0 |2 =& Bi&014:15 (REERE)
15:45 120 70.0 |Z =& 1%015:45 (RFERE)
231+11080.0 (9%) 630.0 U KEC: 1995.0, PH: 6.3

LORGERLAT € (120. 0) 5 4R (137. 0) R FF

ZRIASCRRIERE61.0 ml.
[El;%EC (2085.0 vs 2185) @1k

FATREE T % ME#ER S Z XER




ET (ml/hr/plant)

P3-11_0, Day=4 (2025-04-06)

M_E
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40 - - 400
3195,

20 L 200

00 Warning: lcol [FVI',| "FVO’'] missing
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< L 25
ey
_40_ || | | n | .|| | | n
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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0.6 -
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-11

EER € (180. 0) 574 (130. 0) R FF

ZRIASCPRIERES3. 0 ml.

RriE) | BRI (D) | EHME (EAH/K) | XK SRR

06:45 180 60.0 5 B1%006:45 (KRFERE)
07:20 180 60.0 5 B1%@07:20 (KRFERE)
07:55 180 60.0 5 B31%@07:55 (KRFERE)
09:05 180 60. 0 i ’R1%@09:05 (KAL)
09:55 180 60. 0 i RR1%@09:55 (FK F1ERELEE)
10:40 180 60.0 5 BRi&@10:40 (KkBfEREE)
11:25 180 60.0 5 Bige11:25 (REERSE)
12:05 180 60. 0 i RRi%@12:05 (K FBfER%=S)
12:40 180 60.0 5 BRige12:40 (KBfEREE)
13:10 180 60. 0 A FRi%@13:10 (RAERLSS)
13:45 180 60. 0 5 Bi&e13:45 (RF1EREE)
14:20 180 60. 0 i BRi%@14:20 (RAIERSE)
15:00 180 60.0 R B21%@15:00 (KFEEE)
15:45 180 60. 0 5 BiRe15:45 (KRF1EREE)
21t 2520.0 (14)%) 840.0 3EGHKEC: 1560.0, PH: 5.8

FATREH T % ME#ER S Z XER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=3 (2025-04-05)

60 F————= T e T e e e T B e
V1, VEORRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET | 800
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20 [°F L 400 >
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- 200
I Warning: lcol [FVI',| "FVO’'] missing 0
0 ; - - - -0
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10 | | — | 15
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Warning: lcol ["WC1',  "WC2'] missing
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o5 ] TargetEC=1200.0, TargetSetEC=1560.0 t
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Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.8 N
0.6 -
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0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

— NE 16. 70 - o INE 16. 70 - o NE 16. 70 - o NE
16. 65 - 16. 65 - 16. 65 -
16. 60 - 16. 60 - 16. 60 -
16. 55 - 16. 55 - 16. 55 -
16. 50 - 16. 50 - 16. 50 -
16. 45 - 16. 45 - 16. 45 -
16. 40 - 16. 40 - 16. 40 -
T T T T T T T T T T T T T
500 600 700 800 485 490 495 575 580 585 630 635 640
m=690,m FV0=0 m=720,m FV0=0 m=810,m FV0=0 m
we | 1687 o we| 1677 —— ME | 215/ S
16.7 16. 6
21.0 1
16. 6 16.5
20. 5 -
16.5 16. 4
20.0 1
16. 4 - 16. 3
T T T T T T T T T T T T
690 695 700 720 725 730 810 815 820 500 600 700 800
m=485,m FV0=0 m=575,m FV0=0 m=630,m FV0=0 m=690,m FV0=0
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i 21.4 1
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21.0 7 21.0
21.0 1
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20. 6 - i
20. 6 4 20. 6
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485 490 495 575 580 585 630 635 640 690 695 700
m:720,m FV0=0 m=81 O,m FV0=0 m m
—o— MW 21.2 1 —o— MW
21.0 1
20. 8 -
20. 6 -
20. 4 1
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720 725 730 810 815 820



